10.3 Arcs and Chords- Notes

Part 1. In a circle or in congruent circles, two minor arcs are congruent iff their
. S
corresponding chords are =

 Prove: UV=YW
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Examples for part 1:
Determine the measure of each are of the circle circumseribed about the polygon.
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If all vertices of a polygon lie on a circle, the polygon is said to be fi oe i /
ir\gc‘_mlbz C.L in a circle and the circle is X A

[CCUONS oAl about the polygon. RS = TV i and coly f 55 = 7.
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Examples from part 2:

A regular octagon is inscribed in a circle as part
of a stained glass art piece. If opposite vertices
are connected by line segments, what is the
measure of anblf. ACRB?

A 108 @133

-B- 120 - - - D150

g Trapezoid ABCD is inseribed in ©0.
If' AB = BC = CD and mBC = 50, what is mAPD?

T b= an

Diameters and Chords
* In a circle, if a diameter is perpendicular
to a chord, then it bisects the chord and
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1ts are. !

¢ In a circle or in congruent circles, two gy %
chords are congruent if and only if they are -

equidistant from the center.
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In ©0, CD L OF, OD = 15, and CD = 24. Find x.
AN X 4ntaig?t
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in OP, CD = 24 and mCY = 45. Find each measure.
1.LAQ = o 2.RC =, 3.0B 1 »

4. AB = l 2 5. mDY = ~7° ("'. mAB - 90

7. mAX = ¢ ,/ 5 ° 8. mXB = 45" 9.mCD = (?

In OG, DG = GU and AC = RT. Fxnd each measure. () ;r ;
10. TU = H 1. TR = H 18, st OAL
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13.CD =+ 14.GD =% 15. mAR

16. A chord of a cirele 20 inches long is 24 inches from the center of

a circle. Find the length of the radius. a Y _Hb'l.. - (2.
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